
 
 
 

        YOU MUST SHOW WORK 
1.          

407 
            x   9 
 
 
 

 
 
 
 
 
 

 

2.            
404 ÷ 8 = 

 
 
 
 
 
 
 
 
 
 
 

 

3.   
5 ·  6 ÷ (9 – 4)  = 

 
  
 
 
 
 
 
 

 
 

4.  Donald bought 10 
 woodcarvings for a 
total of $220.  If they 
were all the same 
price, how much did 
he pay for each  
woodcarving? 
 

A.  $11          B.  $16 
C.  $22          D.  $28 

 
 
 
 
 

 

1.____________  
 
 
2.____________ 
 
 
3.____________ 
 
 
4.____________ 

5.   It is 3 miles 
around Westwood 
Park exercise trail.  
After skating around 
the trail 5 ½ times, 
Mr. Zorn lost a 
wheel.  How many 
miles had he skated?  
Round your answer 
to the nearest mile. 
 
 
 
 
 
 
 

6.          
  816 

            x 0.7 
 
 
 
 
 
 
 
 

 
 

 

7.            
5.28 ÷ 0.2 = 

 
 
 
 
 
 
 

 
 
 
 

 

8.   
9 ÷ (18 – 15) + 4 = 

 
 
 
 
 
 

 
 
 
 
 
 

5.____________ 
 
 
6.____________ 
 
 
7.____________ 
 
 
8.____________ 

9.  Hank rode his 
motorcycle half the 
distance from 
Lumberton to 
Wilmington, which 
are 70 miles apart.  
How many miles did 
he ride? 
 

A.  25          B.  30 
C.  35          D.  40 

 
 
 
 
 

 

10.  Jimmy spends ¾ 
of an hour getting 
ready for school.  It 
takes 30 minutes to 
travel to school.  If he 
needs to be at school 
at 9:00 am, what time 
should he get up? 
 
 
 
 
 
 
 
 
 

11.          
    70 
x  36 

 
 
 
 
 
 
 
 
 
 
 

 
 

12.  Round your 
answer to the 
nearest hundredth.           

335 ÷ 60 = 
 
 
 
 
 
 
 

 
 

 
 

9.____________ 
 
 
10.___________ 
 
 
11.___________ 
 
 
12.___________ 

Weekly Math # 1 Name: _______________________________ 
 

Date Due: _______________Block: ______ 



 
13.   
(5 + 4)·  4 ÷ 36 = 

 
 
 
 
 
 

 

14.  Shrimp cost $9 
per pound.  How 
much will 5 pounds 
of shrimp cost? 
 

A.  $14          B.  $45 
C.  $54          D.  $65 

 
 

15.  People can 
insure items that 
they mail.  If the 
insurance fee for an 
item worth $25.00 is 
85 cents, how much 
would it cost to 
insure 7 packages 
each worth $25.00? 
 

16.          
 6.01 

            x 8.7 
 
 
 
 
 
 
 
 
 

 

13.___________ 
 
 
14.___________ 
 
 
15.___________ 
 
 
16.___________ 

17.   
279 ÷ 3 = 

 
 
 
 
 
 
 
 

 

18.   
20 ÷ 2 – 3 · 3 = 

 
 
 
 
 
 
 
 

 

19.  Jacob wrote sixty-
nine million, fifty-eight 
thousand, two hundred 
nineteen, and three 
hundredths in another 
form.  Which of these 
shows a correct way to 
write the number? 
 

A. 609,580,219.3 
B. 69,582.93 
C. 69,058,219.03 
D. 6,958,219.3 

 

20.  Mrs. Zale designs 
and makes miniature 
hardwood boxes. She 
measured and cut a 
piece of cherry wood 
into 3 strips for one of 
her boxes.  The 3 strips 
measured 5.61 cm, 2.3 
cm and 13.672 cm.  
What was the original 
length of the piece of 
wood? 

 
 

17.___________ 
 
 
18.___________ 
 
 
19.___________ 
 
 
20.___________ 

21. 
     2.71 

            x 0.34 
 
 
 
 
 
 
 
 
 
 
 
 
 

22.  Round your 
answer to the 
nearest hundredth. 

1,134 ÷ 51 = 
 
 
 
 
 
 
 
 
 
 
 
 

23. 
6 + 8· 7 - 24 = 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

24.  The record bluefish 
caught at Hattaras Inlet 
in 1972 weighed 31 
pounds and 12 ounces.  
If an average serving of 
fish is 6 ounces, about 
how many servings 
would this fish 
provide?  Round your 
answer to the nearest 
whole number.   
 
Hint:  16 oz = 1 pound 
 
A.  6          B.  40 
C.  62        D.  85 

21.___________ 
 
 
22.___________ 
 
 
23.___________ 
 
 
24.___________ 


